

Further combinatorial results for the symmetric inverse monoid*

A. Laradji and A. Umar

Communicated by V. Mazorchuk

ABSTRACT. Let \mathcal{I}_n be the set of partial one-to-one transformations on the chain $X_n = \{1, 2, \dots, n\}$ and, for each α in \mathcal{I}_n , let $h(\alpha) = |\text{Im } \alpha|$, $f(\alpha) = |\{x \in X_n : x\alpha = x\}|$ and $w(\alpha) = \max(\text{Im } \alpha)$. In this note, we obtain formulae involving binomial coefficients of $F(n; p, m, k) = |\{\alpha \in \mathcal{I}_n : h(\alpha) = p \wedge f(\alpha) = m \wedge w(\alpha) = k\}|$ and $F(n; \cdot, m, k) = |\{\alpha \in \mathcal{I}_n : f(\alpha) = m \wedge w(\alpha) = k\}|$ and analogous results on the set of partial derangements of \mathcal{I}_n .

Introduction and preliminaries

As remarked by Gomes and Howie [10], inverse semigroups (see [11, Chapter V]) are of interest not only as a naturally occurring special case of semigroups but also for their role in describing partial symmetries. Mathematically this property is expressed by the Vagner-Preston Theorem [11, Theorem 5.1.7], by which every (finite) inverse semigroup is embedded in an appropriate (finite) symmetric inverse semigroup \mathcal{I}_X , consisting of all partial one-to-one maps (equivalently subpermutations) of X .

Let $X_n = \{1, 2, \dots, n\}$. A (partial) transformation $\alpha : \text{Dom } \alpha \subseteq X_n \rightarrow \text{Im } \alpha \subseteq X_n$ is said to be *full* or *total* if $\text{Dom } \alpha = X_n$; otherwise it is called *strictly* partial. Let \mathcal{I}_n be the set of partial one-to-one transformations on X_n . Then \mathcal{I}_n is the *(inverse) semigroup of partial one-to-one maps* more

*The authors would like to acknowledge support from King Fahd University of Petroleum & Minerals and Khalifa University of Science and Technology, respectively.

2020 MSC: 20M18, 20M20, 05A10, 05A15.

Key words and phrases: partial one-to-one transformation, symmetric inverse monoid, height of α , fix of α , (left) waist of α , permutation, (partial) derangement.

commonly known as the *symmetric inverse monoid*. Enumerative problems of an essentially combinatorial nature arise naturally in the study of semigroups of transformations. In particular, for the semigroup \mathcal{I}_n and some of its subsemigroups many interesting and delightful combinatorial results were obtained in [1–3, 7–9, 12–18, 22, 24, 25]. See also the remark by Cameron in [5, § 4.7]. One of the authors in [23] attempted to give a unified and coherent account of these and other results and also proposed some combinatorial questions that need further investigation. Observe that in the special case of *permutations*, Cameron [4, 5], Comtet [6] and Riordan [19] are replete with many interesting results. This paper is concerned with investigating some of the questions proposed by Umar [23] on \mathcal{I}_n , where we provide some answers in this section (§ 1) while in § 2 we obtain analogous results about partial one-to-one *derangements* in \mathcal{I}_n . As in [17], recurrence relations and (exponential) generating functions play a pivotal role in the approach used in this paper.

On a partial one-one mapping of X_n the following parameters are defined: the *height* of α is $h(\alpha) = |\text{Im } \alpha|$, the *fix* of α is $f(\alpha) = |F(\alpha)|$, where $F(\alpha)$ is the set $\{x \in X_n : x\alpha = x\}$ of fixed points of α , and the *right waist* (or *waist*, for brevity) of α is $w(\alpha) = \max(\text{Im } \alpha)$ (the *left waist* is defined as $\min(\text{Im } \alpha)$). We recall the dual of [15, Proposition 2.1], which says that $c(n, p)$, defined as the number of surjective partial derangements $\alpha : X_n \rightarrow Y_p = \{y_1, y_2, \dots, y_p\} \subseteq X_n$, satisfies

$$c(n, p) = p! \sum_{j=0}^p \binom{n-j}{p-j} \frac{(-1)^j}{j!}. \quad (1)$$

Lemma 1. *Let $c(n, p)$ be as defined in (1). Then*

$$\sum_{m=0}^p \binom{p}{m} c(n-m, p-m) = \binom{n}{p} p!.$$

Proof. Let $\alpha \in \mathcal{I}_n$ be such that $\text{Im } \alpha = Y_p = \{y_1, y_2, \dots, y_p\} \subseteq X_n$. Then the expression $\binom{p}{m} c(n-m, p-m)$ is the number of such α with exactly m fixed points. Thus, taking the sum over m from 0 to p gives the number of all such maps. However, the expression $\binom{n}{p} p!$ clearly represents the number of all such maps. Hence the result follows. \square

Next, as in Umar [23], define equivalences on \mathcal{I}_n by equalities of all or some of the three parameters defined above as

$$F(n; p, m, k) = |\{\alpha \in \mathcal{I}_n : h(\alpha) = p \wedge f(\alpha) = m \wedge w(\alpha) = k\}|, \quad (2)$$

$$F(n; p, m, \cdot) = |\{\alpha \in \mathcal{I}_n : h(\alpha) = p \wedge f(\alpha) = m\}|, \quad (3)$$

$$F(n; p, \cdot, k) = |\{\alpha \in \mathcal{I}_n : h(\alpha) = p \wedge w(\alpha) = k\}|, \quad (4)$$

$$F(n; \cdot, m, k) = |\{\alpha \in \mathcal{I}_n : f(\alpha) = m \wedge w(\alpha) = k\}|. \quad (5)$$

The following lemma will be useful in what follows.

Lemma 2. [23, Lemma 2.1] *Let $X_n = \{1, 2, \dots, n\}$. For a given $\alpha \in \mathcal{I}_n$, we set $p = h(\alpha)$, $m = f(\alpha)$ and $k = w(\alpha)$. We also define $F(n; p, \cdot, k) = 1$ if $k = p = 0$. Then we have the following:*

- 1) $n \geq k \geq p \geq m \geq 0$;
- 2) $k = 1 \implies p = 1$;
- 3) $p = 0 \Leftrightarrow k = 0$.

Observe that

$$F(n; p, m, \cdot) = \sum_{k=p}^n F(n; p, m, k), \quad F(n; p, \cdot, k) = \sum_{m=0}^p F(n; p, m, k), \dots$$

and any two-variable function can be expressed as a sum of appropriate three-variable functions and so on.

We now have the following theorem.

Theorem 1. *Let $c(n, p)$ and $F(n; p, m, k)$ be as defined in (1) and (2), respectively. Then*

$$F(n; p, m, k) = \binom{k-1}{p-1} \binom{p}{m} c(n-m, p-m).$$

Proof. Let $\alpha \in \mathcal{I}_n$ be such that $h(\alpha) = p$, $f(\alpha) = m$ and $w(\alpha) = k$. First, we fix our image set to be Y_p . The p images which must include k , can be chosen in $\binom{k-1}{p-1}$ ways, since k is the maximum element in $\text{Im } \alpha$. Next, the m fixed points can be chosen from the already chosen p images in $\binom{p}{m}$ ways. Now from the remaining $n-m$ unused elements for the domain and $p-m$ elements for the images, there are $c(n-m, p-m)$ ways to map these elements surjectively and injectively without fixed points. Hence the result follows. \square

From the above result we recover the following results which can be found in [23, Table 3, p. 119]:

Lemma 3. Let $c(n, p)$ and $F(n; p, m, \cdot)$ be as defined in (1) and (3), respectively. Then

$$F(n; p, m, \cdot) = \frac{n!}{m!(n-p)!} \sum_{j=0}^{p-m} \binom{n-m-j}{p-m-j} \frac{(-1)^j}{j!}.$$

Lemma 4. Let $c(n, p)$ and $F(n; p, \cdot, k)$ be as defined in (1) and (4), respectively. Then

$$F(n; p, \cdot, k) = \binom{n}{p} \binom{k-1}{p-1} p!.$$

Proof. This follows directly from Lemmas 1, 2 and Theorem 1. □

However, we also get the following new result, thereby completing [23, Table 3, p. 119].

Theorem 2. Let $c(n, p)$ and $F(n; \cdot, m, k)$ be as defined in (1) and (5), respectively. Then

$$F(n; \cdot, m, k) = \sum_{p=0}^k \binom{k-1}{p-1} \binom{p}{m} c(n-m, p-m).$$

An alternative expression for $F(n; \cdot, m, k)$ is given in the proposition below.

Proposition 1. For $1 \leq k \leq n$,

$$F(n; \cdot, m, k) = \binom{k-1}{m} F(n-m; \cdot, 0, k-m) + \sum_{j=m-1}^{k-1} F(n-1; \cdot, m-1, j).$$

Proof. Let $\mathcal{F}_m(n, k)$ be the set of all partial one-one maps on X_n with waist k and m fixed points. Let x be the largest fixed point of a map α in $\mathcal{F}_1(n, k)$ and β be the restriction of α to $X_n \setminus \{x\}$. If $x < k$, then β can be considered as an element of $\mathcal{F}_0(n-m, k-m)$ (remove all fixed points and their images) and there are $\binom{k-1}{m}$ choices of x . Hence the number of maps in $\mathcal{F}_m(n, k)$ with all fixed points less than k is $\binom{k-1}{m} F(n-m; \cdot, 0, k-m)$. If k is the largest fixed point of α , then $\max(\text{Im } \beta) < k$ and β can be considered as an element of $\bigcup_{j=1}^{k-1} \mathcal{F}_{m-1}(n-m, j)$, so there are $\sum_{j=0}^{k-1} F(n-1; \cdot, m-1, j)$ maps in $\mathcal{F}_m(n, k)$ with fixed point k . □

Remark 1. The triangular array of numbers $F(n; \cdot, 1, k)$, $F(n; \cdot, 2, k)$ and sequences $\Sigma F(n; \cdot, 1, k)$ and $\Sigma F(n; \cdot, 2, k)$ are as at the time of submitting this paper not in Sloane [20]. For computed values of $F(n; \cdot, 1, k)$ and $F(n; \cdot, 2, k)$ (for $1 \leq k \leq n \leq 6$) see Tables 1 and 2, respectively.

$n \setminus k$	1	2	3	4	5	6		$\Sigma F(n; \cdot, 1, k)$
0	0							0
1	1	0						1
2	1	1	0					2
3	1	3	8	0				12
4	1	5	18	48	0			72
5	1	7	34	126	372	0		540
6	1	9	56	270	1044	3300		4680

TABLE 1.

$n \setminus k$	1	2	3	4	5	6		$\Sigma F(n; \cdot, 2, k)$
0	0							0
1	0	0						0
2	0	1	0					1
3	0	1	2	0				3
4	0	1	5	18	0			24
5	0	1	8	39	132	0		180
6	0	1	11	72	336	1410		1830

TABLE 2.

1. Partial derangements

The number of *derangements* (and its various generalizations) of an n -set have attracted the attention of mathematicians as far back as the 18th century [21]. Thus, we were very surprised that the number of *partial derangements* defined as $\alpha \in \mathcal{I}_n$ having no fixed points was not known and so we computed it in 2007, see [15] and [20, A144085]. In this section we will find formulas for partial derangements of fixed waist. Note that in this case the number of partial derangements of fixed left waist must be equal to those of corresponding fixed waist.

From Theorems 1, 2 and Lemma 3, respectively, we deduce the following results.

Proposition 2. *Let $c(n, p)$ and $F(n; p, m, k)$ be as defined in (1) and (2), respectively. Then the number of partial derangements (of an n -set) of*

height p and waist k is given by

$$F(n; p, 0, k) = \binom{k-1}{p-1} c(n, p).$$

Proposition 3. Let $c(n, p)$ and $F(n; p, m, \cdot)$ be as defined in (1), and (3), respectively. Then the number of partial derangements (of an n -set) of height p is given by

$$F(n; p, 0, \cdot) = \frac{n!}{(n-p)!} \sum_{j=0}^p \binom{n-j}{p-j} \frac{(-1)^j}{j!} = \binom{n}{p} c(n, p).$$

Proposition 4. Let $c(n, p)$ and $F(n; \cdot, m, k)$ be as defined in (1) and (5), respectively. Then the number of partial derangements (of an n -set) of right waist k is given by

$$F(n; \cdot, 0, k) = \sum_{p=0}^n \binom{k-1}{p-1} c(n, p).$$

Remark 2. The triangular array of numbers $F(n; \cdot, 0, k)$ and sequence $\Sigma F(n; \cdot, 0, k)$, are as at the time of submitting this paper not in Sloane [20]. For computed values of $F(n; \cdot, 0, k)$ for $1 \leq k \leq n \leq 6$ see Table 3.

$n \setminus k$	0	1	2	3	4	5	6	$\Sigma F(n; \cdot, 0, k)$
0	1							1
1	1	0						1
2	1	1	2					4
3	1	2	5	10				18
4	1	3	10	28	66			108
5	1	4	17	62	192	504		780
6	1	5	26	118	462	1548	4440	6600

TABLE 3.

It is clear that $F(n; \cdot, 0, 0) = 1$ and $F(n; \cdot, 0, 1) = n - 1$. Moreover, we have

$$\begin{aligned} F(n; \cdot, 0, 2) &= n^2 - 2n + 2; \\ F(n; \cdot, 0, 3) &= n^3 - 4n^2 + 9n - 8; \\ F(n; \cdot, 0, 4) &= n^4 - 7n^3 + 26n^2 - 50n + 42; \\ F(n; \cdot, 0, 5) &= n^5 - 11n^4 + 61n^3 - 193n^2 + 346n - 276; \end{aligned}$$

$F(n; \cdot, 0, 6) = n^6 - 16n^5 + 125n^4 - 580n^3 + 1674n^2 - 2824n + 2160$. We next obtain a recurrence relation and a generating function for $F(n; \cdot, 0, k)$. However, for notational brevity, we will denote from here on $F(n; \cdot, m, k)$ by $F_m(n, k)$.

Proposition 5. *Let $F_m(n, k) = F(n; \cdot, m, k)$ be as defined in (5). Then for $1 \leq k < n$, we have*

$$F_0(n, k) - F_0(n, k-1) = (k-1)F_0(n-1, k-1) - (k-2)F_0(n-1, k-2) + F_0(n-1, k).$$

Proof. First observe that since $\sum_{j=2}^{i-k+2} \binom{k-j}{i-2} = \binom{k-1}{i-1}$, it follows that

$$\sum_{i=1}^n \binom{k-1}{i-1} c(n-1, i-1) = \sum_{i=1}^{k-1} F_0(n-1, i).$$

Next we show that

$$(6) \quad F_0(n, k) = kF_0(n-1, k-1) + \sum_{i=0}^{k-2} F_0(n-1, i) + F_0(n-1, k).$$

We have

$$\begin{aligned} F_0(n, k) &= \sum_{i=0}^n \binom{k-1}{i-1} c(n, i) \\ &= \sum_{i=0}^n \binom{k-1}{i-1} [ic(n-1, i-1) + c(n-1, i)] \\ &= \sum_{i=0}^n \binom{k-1}{i-1} [(i-1)c(n-1, i-1) + c(n-1, i-1) + c(n-1, i)] \\ &= (k-1)F_0(n-1, k-1) + \sum_{i=0}^{k-1} F_0(n-1, i) + F_0(n-1, k) \\ &= kF_0(n-1, k-1) + \sum_{i=0}^{k-2} F_0(n-1, i) + F_0(n-1, k). \end{aligned}$$

Finally, note that substituting (6) into $F_0(n, k) - F_0(n, k-1)$ and simplifying we get the required result. \square

Theorem 3. Let $F_m(n, k) = F(n; \cdot, m, k)$ be as defined in (5). Then, for $n \geq 2$, we have

$$\sum_{k \geq 0} \frac{F_0(n, k+1)}{k!} x^k = e^{\frac{x^2}{1+x}} (n(1+x)^{n-1} - (1+x)^{n-2}).$$

Proof. We have

$$F_0(n, k) = \sum_{j=0}^k (k-1)! \frac{(-1)^j}{j!} \sum_{r=0}^{k-j} \binom{n-j}{r} \frac{r+j}{(k-j-r)!}.$$

Let $a = k - j$ and let $g(x) = \sum_{a \geq 0} \sum_{r=0}^a \binom{n-j}{r} \frac{r+j}{(a-r)!} x^a$. Then

$$\begin{aligned} g(x) &= \sum_{a \geq 0} \sum_{r=0}^a \binom{n-j}{r} x^r (r+j) \frac{x^{a-r}}{(a-r)!} \\ &= \sum_{r \geq 0} \binom{n-j}{r} x^r (r+j) \sum_{a \geq r} \frac{x^{a-r}}{(a-r)!} = e^x \sum_{r \geq 0} \binom{n-j}{r} x^r (r+j) \\ &= e^x (j(1+x)^{n-j} + (n-j)(1+x)^{n-j-1}) = e^x (1+x)^{n-j-1} (j+nx), \end{aligned}$$

using the fact that $\binom{n-j}{r} = 0$, if $r > n - j$. We now obtain

$$\begin{aligned} \sum_{k \geq 0} \frac{k F_0(n, k)}{k!} x^k &= \sum_{k \geq 0} \sum_{j=0}^k \frac{(-x)^j}{j!} \sum_{r=0}^{k-j} \binom{n-j}{r} \frac{r+j}{(k-j-r)!} x^{k-j} \\ &= \sum_{j \geq 0} \frac{(-x)^j}{j!} \sum_{\alpha \geq 0} \sum_{r=0}^{\alpha} \binom{n-j}{r} \frac{r+j}{(a-r)!} x^{\alpha} \\ &= e^x (1+x)^{n-1} \sum_{j \geq 0} \frac{(-x/(1+x))^j}{j!} (j+nx) \\ &= e^x (1+x)^{n-1} \left\{ nxe^{-x/(1+x)} + \sum_{j \geq 0} \frac{j(-x/(1+x))^j}{j!} (j+nx) \right\} \\ &= e^x (1+x)^{n-1} \left(nxe^{-x/(1+x)} - \frac{x}{1+x} e^{-x/(1+x)} \right) \\ &= xe^{x^2/(1+x)} (1+x)^{n-1} (n-1/(1+x)). \end{aligned}$$

This implies $\sum_{k \geq 0} \frac{F_0(n, k+1)}{k!} x^k = e^{x^2/(1+x)} (1+x)^{n-1} (n-1/(1+x))$, as required. \square

Remark 3. A straightforward expansion of the power series above gives

$$\begin{aligned} \sum_{k \geq 0} \frac{F_0(n, k+1)}{k!} x^k &= (n-1) + x(n^2 - 2n + 2) + \frac{x^2}{2!}(n^3 - 4n^2 + 9n - 8) \\ &+ \frac{x^3}{3!}(n^4 - 7n^3 + 26n^2 - 50n + 42) \\ &+ \frac{x^4}{4!}(n^5 - 11n^4 + 61n^3 - 193n^2 + 346n - 276) \\ &+ \frac{x^5}{5!}(n^6 - 16n^5 + 125n^4 - 580n^3 + 1674n^2 - 2824n + 2160) + O(x^6). \end{aligned}$$

We thus recover the polynomials listed after Remark 2.4.

The following result relates the number $F_m(n, n)$ of partial one-one maps with m fixed points and waist n to the number of partial derangements.

Proposition 6. *Let a_n be the number of partial derangements of \mathcal{I}_n and let $F_m(n, k) = F(n; \cdot, m, k)$ be as defined in (5). Then, for $n - m \geq 2$,*

$$F_m(n, n) = (n - m - 1) \binom{n-1}{m} (a_{n-m-1} + a_{n-m-2}) + \binom{n-1}{m-1} a_{n-m}.$$

In particular, for $n \geq 2$,

$$F_0(n, n) = (n-1)(a_{n-1} + a_{n-2}).$$

Proof. Let $n \geq 2$ and let $b_n = F_0(n, n)$ be the number of partial derangements of \mathcal{I}_n with waist n , i.e., with $\max(\text{Im } \alpha) = n$. We first prove that $b_n = (n-1)(a_{n-1} + a_{n-2})$. By [15, Proposition 3.1], the exponential generating function (e.g.f.) of a_n is $a(x) = e^{x^2/(1-x)}/(1-x)$. For computational convenience, let $b(x)$ be the e.g.f. of b_{n+1} rather than that of b_n . We have

$$\begin{aligned} b(x) &= \sum_{n \geq 0} b_{n+1} \frac{x^n}{n!} \\ &= \sum_{n \geq 0} \frac{1}{n!} \sum_{p=0}^n x^{n-p} \binom{n}{p} \sum_{j=0}^p x^{p-j} \frac{(-x)^j}{j!} (p+1)! \binom{n+1-j}{p+1-j} \frac{(-1)^j}{j!} \\ &= \sum_{n \geq 0} \sum_{p=0}^n \frac{x^{n-p}}{(n-p)!} (p+1) \sum_{j=0}^p x^{p-j} \frac{(-x)^j}{j!} \binom{n+1-j}{p+1-j}. \end{aligned}$$

Let $u = n - p$, $v = p - j$. Then

$$b(x) = \sum_{j \geq 0} \frac{(-x)^j}{j!} \sum_{u \geq 0} \frac{x^u}{u!} g(x, j, u)$$

where

$$\begin{aligned} g(x, j, u) &= \sum_{v \geq 0} (v + j + 1) \binom{u + v + 1}{v + 1} x^v \\ &= \frac{j}{x} \sum_{v \geq 0} x^{v+1} \binom{u + v + 1}{v + 1} + \sum_{v \geq 0} (v + 1) \binom{u + v + 1}{v + 1} x^v \\ &= \frac{j}{x} \left(\frac{1}{(1-x)^{u+1}} - 1 \right) + \frac{d}{dx} \sum_{t \geq 1} t x^{t-1} \binom{u+t}{t} \\ &= \frac{j}{x} \left(\frac{1}{(1-x)^{u+1}} - 1 \right) + \frac{u+1}{(1-x)^{u+2}}. \end{aligned}$$

Hence, by algebraic manipulations we see that

$$\begin{aligned} b(x) &= \sum_{j \geq 0} \frac{(-x)^j}{j!} \sum_{u \geq 0} \frac{x^u}{u!} \left(\frac{j}{x} \left(\frac{1}{(1-x)^{u+1}} - 1 \right) + \frac{u+1}{(1-x)^{u+2}} \right) \\ &= \sum_{j \geq 0} \frac{(-x)^j}{j!} \left\{ \frac{j e^{x/(1-x)}}{x(1-x)} - \frac{j e^x}{x} \right. \\ &\quad \left. + \frac{x}{(1-x)^3} \sum_{u \geq 0} \frac{x^{u-1}}{(u-1)!(1-x)^{u-1}} + \frac{e^{x/(1-x)}}{(1-x)^2} \right\} \\ &= e^{x/(1-x)} \left\{ \frac{1}{x(1-x)} \sum_{j \geq 0} \frac{j(-x)^j}{j!} \right. \\ &\quad \left. + \left(\frac{x}{(1-x)^3} + \frac{1}{(1-x)^2} \right) \sum_{j \geq 0} \frac{(-x)^j}{j!} \right\} + 1 \\ &= \frac{2x - x^2}{(1-x)^3} e^{x^2/(1-x)} + 1. \end{aligned}$$

Thus we obtain

$$\sum_{n \geq 0} b_{n+2} \frac{x^n}{n!} = b'(x) = \frac{2 + x^2 - 3x^3 + x^4}{(1-x)^5} e^{x^2/(1-x)}.$$

On the other hand,

$$\begin{aligned}
 & \sum_{n \geq 0} (n+1)(a_{n+1} + a_n) \frac{x^n}{n!} \\
 &= x \sum_{n \geq 1} \frac{a_{n+1} x^{n-1}}{(n-1)!} + \sum_{n \geq 0} \frac{a_{n+1} x^n}{n!} + x \sum_{n \geq 1} \frac{a_n x^{n-1}}{(n-1)!} + \sum_{n \geq 0} \frac{a_n x^n}{n!} \\
 &= x a''(x) + (1+x) a'(x) + a(x) \\
 &= \frac{2+x^2-3x^3+x^4}{(1-x)^5} e^{x^2/(1-x)} = \sum_{n \geq 0} b_{n+2} \frac{x^n}{n!}.
 \end{aligned}$$

This completes the proof that for all $n \geq 0$, $b_{n+2} = (n+1)(a_{n+1} + a_n)$. We next turn to the case when $m \geq 1$. By Proposition 1.7 and the above part,

$$\begin{aligned}
 F_m(n, n) &= \binom{n-1}{m} F_0(n-m, n-m) + \sum_{j=0}^{n-1} F_{m-1}(n-1, j) \\
 &= (n-m-1) \binom{n-1}{m} (a_{n-m-1} + a_{n-m-2}) + a_{n-1, m-1}
 \end{aligned}$$

where $a_{r,t}$ is the number of partial one-one maps on $\{1, \dots, r\}$ with exactly t fixed points. By [15, (2.5a)] $a_{r,t} = \binom{r}{t} a_{r-t}$, so we obtain

$$F_m(n, n) = (n-m-1) \binom{n-1}{m} (a_{n-m-1} + a_{n-m-2}) + \binom{n-1}{m-1} a_{n-m}. \quad \square$$

Remark 4. From Proposition 1.7 and (6), we easily deduce that for $1 \leq k < n$

$$F_1(n, k) = F_0(n, k) - F_0(n-1, k).$$

We conclude this article with the following divisibility properties. In particular, we obtain the curious fact that $\text{lcm}(1, \dots, k-1)$ divides $F_0(n, k)$ and $F_1(n, k)$ if $k \geq 3$.

Theorem 4. (i) For $k-m \geq 2$, $\text{lcm}(1, \dots, k-1) | m! F_m(n, k)$.

(ii) If $k-m \geq 4$, then $F_m(n, k)$ is divisible by 3.

(iii) $\text{lcm}(1, 2, \dots, n-m-1) | F_m(n, n)$.

Proof. (i) We use induction on m . For each $r \in \mathbb{N}$, let $\mu_r = \text{lcm}(1, \dots, r)$. Since the sequence (a_k) of partial derangements of \mathcal{I}_k has e.g.f.

$\sum_{k \geq 0} \frac{a_k}{k!} x^k = e^{x^2/(1-x)}/(1-x)$, Theorem 2.6 implies

$$\sum_{k \geq 0} F_0(n, k+1) \frac{x^k}{k!} = (1+x)^{n-1} (n(1+x) - 1) \sum_{k \geq 0} a_k \frac{(-x)^k}{k!}.$$

This means $\frac{F_0(n, k+1)}{k!}$ is a \mathbb{Z} -linear combination of terms of the form $\frac{a_j}{j!}$ ($0 \leq j \leq k$) and so $F_0(n, k+1) = \sum_{j=0}^k \alpha_j a_j \frac{k!}{j!}$ for some $\alpha_j \in \mathbb{Z}$. By [15, Proposition 2.11], $\mu_j | a_j$ and hence each term $a_j \frac{k!}{j!}$ is divisible by μ_k . We thus obtain $\mu_{k-1} | F_0(n, k)$ for $k \geq 2$.

Now assume that for some nonnegative integer M , $\mu_{k-1} | M! F_M(n, k)$ whenever $k - M \geq 2$. By Proposition 1.7

$$F_{M+1}(n, k) = A_1 + A_2 - A_3$$

where

$$\begin{aligned} A_1 &= \binom{k-1}{M+1} F_0(n-M-1, k-M-1) \\ A_2 &= \binom{n-1}{M} a_{n-M-1} \\ A_3 &= \sum_{j=k}^{n-1} F_M(n-1, j). \end{aligned}$$

Hence, to prove that $\mu_{k-1} | (M+1)! F_{M+1}(n, k)$ for $k - M \geq 3$, it suffices to show that $\mu_{k-1} | (M+1)! A_i$ ($1 \leq i \leq 3$).

Clearly $\mu_{k-1} | (M+1)! \binom{k-1}{M+1} \mu_{k-M-2}$. Since $\mu_{k-M-2} | F_0(n-M-1, k-M-1)$, we deduce that μ_{k-1} divides $(M+1)! A_1$. Also, $(M+1)! a_{n-M-1}$ is divisible by $(n-1)(n-2) \cdots (n-M) \mu_{n-M-1}$, so $\mu_{k-1} | (M+1)! A_2$. Finally, by the induction hypothesis, $\mu_{k-1} | M! F_M(n, k)$, hence $\mu_{k-1} | (M+1)! F_M(n-1, j)$ for $j \geq k$ and therefore $\mu_{k-1} | (M+1)! A_3$.

(ii) This follows by an argument similar to the one above.

(iii) This follows from Proposition 2.8 and the fact that $\mu_n | a_n$. □

References

- [1] Al-Kharousi, F., Kehinde, R. and Umar, A. Combinatorial results for certain semigroups of order-decreasing partial isometries of a finite chain, *Journal of Algebra, Number Theory: Advances and Applications* **19**(1)(2018), 29–49.
- [2] Bugay, L. Yagci, M. and Ayik, H. The ranks of certain semigroups of partial isometries, *Semigroup Forum*, **97**(2) (2018), 214–222.

-
- [3] Borwein, D., Rankin, S. and Renner, L. Enumeration of injective partial transformations, *Discrete Math.* **73** (1989), 291–296.
- [4] Cameron, P. J. *Combinatorics: Topics, Techniques, Algorithms*, Cambridge University Press, 1994.
- [5] Cameron, P. J. *Notes on Counting: An introduction to Enumerative Combinatorics*, Cambridge University Press, 2017.
- [6] Comtet, L. *Advanced Combinatorics: The Art of Finite and Infinite Expansions*, D. Reidel Publishing Company, Dordrecht, Holland, 1974.
- [7] Fernandes, V. H. and Quinteiro T. M. , Presentations for monoids of finite partial isometries, *Semigroup Forum*, **93** (2016), 97 – 110.
- [8] Ganyushkin, O. and Mazorchuk, V. Combinatorics of nilpotents in symmetric inverse semigroups, *Ann. Comb.* **8** (2) (2004), 161–175.
- [9] Ganyushkin, O. and Mazorchuk, V. *Classical Finite Transformation Semigroups: An Introduction*, Springer, London, 2009.
- [10] Gomes, G. M. S. and Howie, J. M. Nilpotents in finite symmetric inverse semigroups, *Proc. Edinb. Math. Soc.* **30** (1987), 383–395.
- [11] HOWIE, J. M. *Fundamentals of semigroup theory*. Oxford: Clarendon Press, 1995.
- [12] Jajcayova, T. B. Schützenberger automata for HNN-extensions of inverse monoids and their use in algorithmic questions, *Information and Computation*, (2019), 104448 (article in press).
- [13] Janson, S. and Mazorchuk, V. Some remarks on the combinatorics of IS_n , *Semigroup Forum* **109** (2005), 391–405.
- [14] Laradji, A. and Umar, A. On the number of nilpotents in the partial symmetric semigroup, *Comm. Algebra* **32** (2004), 3017–3023.
- [15] Laradji, A. and Umar, A. Combinatorial results for the symmetric inverse semigroup, *Semigroup Forum* **75** (2007), 221–236.
- [16] Laradji, A. and Umar, A. On the number of subpermutations with a fixed orbit size, *Ars Combinatoria* **CIX** (2013), 447–460.
- [17] Laradji, A. and Umar, A. Combinatorial results for semigroups of order-preserving or order-reversing subpermutations, *J. Difference Equ. Appl.* **21** (2015), 269–283.
- [18] Lipscomb, S. *Symmetric Inverse Semigroups*, Mathematical Surveys of The American Mathematical Society 46, Providence, R. I., 1996.
- [19] Riordan, J. *Introduction to Combinatorial Analysis*, Dover Publications Inc., New York, 2002.
- [20] Sloane, N. J. A. *The On-Line Encyclopedia of Integer Sequences*, <http://www.research.att.com/~njas/sequences/>.
- [21] Stanley, R. P. *Enumerative Combinatorics* Vol. I, Cambridge University Press, 1997.
- [22] Umar, A. On the semigroups of partial one-to-one order-decreasing finite transformations, *Proc. Roy. Soc. Edinburgh* **123A** (1993), 355–363.
- [23] Umar, A. Some combinatorial problems in the theory of symmetric inverse semigroups, *Algebra Discrete Math.* **9** (2010), no. 2, 113–124.

-
- [24] Umar, A. Combinatorial results for semigroups of orientation-preserving partial transformations, *Journal of Integer Sequences* **14** (2011), 11.7.5.
- [25] York, C. W. Enumerating k th roots in the symmetric inverse monoid, *JCMCC* **108** (2019), 147-159.

CONTACT INFORMATION

- Abdallah Laradji** Department of Mathematics & Statistics
King Fahd University of Petroleum & Minerals
Dhahran, SAUDI ARABIA
E-Mail(s): alaradji@kfupm.edu.sa
- Abdullahi Umar** Department of Mathematics
Khalifa University of Science and Technology,
Sas Al Nakhl Campus, Abu Dhabi, U.A.E.
E-Mail(s): abdullahi.umar@ku.ac.ae

Received by the editors: 03.04.2021
and in final form 21.10.2021.